ID: 1

Period

Name
Assignment Date
Sketch the solution to each system of inequalities.
1) 3x+7y<35 2) x—-y>-4
12X+ 7y > =28 TX+3y>-18
A A
4—0 8| 46| 4| D20 4 1 > 4—0 8 46| 4| 20 >
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3) 7x+2y<8
IX+2y=>-2

A
Y

5) x-2y>-6
X>2

A
Y

7 27 vssvs path-werksheet.ory

4) 14x-3y<-24

14X -3y >3
A
“To Bl bl k1L lo 4 5
Y
6) x—2y>-8
11x—-6y<24
A
T Jol 8l [l DbTo 4 o~
Y
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7) X+y<-6 8) x—6y>-12

13x+y<6 3Ix-2y<12
A A
ol %64l blo ) o RENE IR AEEEED 4 o
Y Y
9) x+6y<-12 10) 4x+y>1
3IX+2y<12 X+2y<-12
A A
Tlol BTl [W[ Do )] o~ Tjol sl [l Dblo 4 1~
Y Y
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11) Sx+7y=>7 12) 8x—7y>-28

X—=7y=-49 8X =Ty >-35
A A
ol %64l blo ) o RENE IR AEEEED 4 o
Y Y
13) x+y<—4 14) 7x -2y > 10
X+y>4 S5x+2y<14
A A
Tlol BTl [W[ Do )] o~ Tjol sl [l Dblo 4 1~
Y Y

2 gegsms path-worksheet.ory
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15) 11x—-3y<-12 16) x+y>-7

X+3y>-24 10x+y<2
A A
ol %64l blo ) o RENE IR AEEEED 4 o
Y Y
17) 5x+3y< 15 18) 6x—y>38
X—3y=>21 X—y=3
A A
Tlol BTl [W[ Do )] o~ Tjol sl [l Dblo 4 1~
Y Y
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19) 2x -3y >-24 20) y<2

3X+y=>-3 2x—-3y<6
A A
ol %64l blo ) o RENE IR AEEEED 4 o
Y Y
21) x—-7y>-42 22) x—-y>-1
12x+ 7y <49 X—Yy<5
A A
Tlol BTl [W[ Do )] o~ Tjol sl [l Dblo 4 1~
Y Y
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23) 2x—-7y <21

2x -7y =49
A
ol BT Ul DbTo ] 0~
Y

</ gsgsgs ath-wsrisheel.crg

24) 4x -5y <-20
13x =5y >25

A

Y
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Answers to Assignment (ID: 1)
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ID: 2

Name
Assignment Date Period
Sketch the solution to each system of inequalities.
1) 10x—-y<2 2) x-T7y>-14
y<8 X—=7y>14
A A
4— 0|l 8|46 | 4| 210 4 1 > 4— 0|l 8] 46| -4|-210 4 10 >

7 gegeus matih-wiorksheeh ory
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3) x-3y<-15

4x -3y >-24
A
T fol B[ [ LT DbTo ] 0
Y
5) 3x-y>6
4x+y<1
A
T ol 8 [l DbTo 4 1
Y

dagsgs . mabh-verksheeb.org

4) 2x+3y<-24

4x -3y <6
A
T o] BT[] DbTo 4 0~
Y
6) x—y>-3
Sx-y2>1
A
T Jol 8l [l DbTo 4 o~
Y
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7) 9x—-5y>10 8) x—Ty=>42

X—=5y=>-30 13x =7y >-42
A A

T &l b1kl blo ) 5 “To Bl bl k1L lo 4 5
Y Y

9) 13x+5y<-35 10) 8x+3y>-15

3Xx+5y=>15 2x+3y2>3
A A

T ol 8 [l DbTo 4 1 T Jol 8l [l DbTo 4 o~
Y Y
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11) x-3y<9 12) x+y=>-3

X—3y>-I18 10X+y=>6
A A
ol %64l blo ) o RENE IR AEEEED 4 o
Y Y
13) 7x-y>8 14) 9x+4y <8
X—2y<-10 X+4y<-24
A A
Tlol BTl [W[ Do )] o~ Tjol sl [l Dblo 4 1~
Y Y
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15) 2x -3y <15 16) 5x+6y<24

13x -3y <—-18 2x-3y<15
A A
ol %64l blo ) o RENE IR AEEEED 4 o
Y Y
17) 13x—6y <42 18) x—y<1
X—=2y>—6 y=>-8
A A
Tlol BTl [W[ Do )] o~ Tjol sl [l Dblo 4 1~
Y Y
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19) 7x-y=>5 20) x—-5y>30

X—y<-1 2X+y<5S
A A
T &l b1kl blo ) 5 “To Bl bl k1L lo 4 5
Y Y
21) 3x+y<-7 22) 9x— 7y <—-49
3IX+y<-6 OXx -7y >42
A A
T ol 8 [l DbTo 4 1 T Jol 8l [l DbTo 4 o~
Y Y
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23) 16x+3y>-24 24) x-T7y<-42

X+3y<21 12X+ 7y <-49
A A
<—O S 46|41 210 4 1; 4—0 S8 46|41 210 4 1 >
Y Y
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Answers to Assignment (ID: 2)
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ID: 3

Period

Name
Assignment Date
Sketch the solution to each system of inequalities.
1) 2x+y<3 2) 2x—-y=>8
4x -y >3 2X+3y=>24
A A
4— 0|l 8|46 | 4| 210 4 1 > 4— 0|l 8] 46| -4|-210 >
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3) x<-3

X+3y<-9
A
T fol B[ [ LT DbTo ] 0
Y
5) 2x—-y>8
y<-6
A
10
8
\J
T ol 8 [l DbTo 4 1
4
0
8
“1o
Y

dagsgs . mabh-verksheeb.org

4) y<8
I3x—-y<5
A
4—0 S8 46|41 210 4 1;
Y
6) 11x+y>-6
2X—-y<-7
A
{—0 8] 46 | 4| 210 4 1>
Y
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7) x—y>-4 8) 3x+y<-2

2x=T7y>17 X+3y<18
A A

ol %64l blo ) o RENE IR AEEEED 4 o
Y Y

9) 4x+5y<-10 10) x+7y<21

14x+ 5y <40 3Ix-7y<-49
A A

Tlol BTl [W[ Do )] o~ Tjol sl [l Dblo 4 1~
Y Y
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11) 5x -8y >-48 12) y>3

3x+4y>-20 2x-3y<-15
A A
ol %64l blo ) o RENE IR AEEEED 4 o
Y Y
13) x -8y >48 14) x—-y>5
S5Xx—4y>-12 SXx+y>1
A A
Tlol BTl [W[ Do )] o~ Tjol sl [l Dblo 4 1~
Y Y
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15) 14x—y <38 16) x—3y=>9

X—y>-=5 10x -3y <—-18
A A
T &l b1kl blo ) 5 “To Bl bl k1L lo 4 5
Y Y
17) 12x+5y>20 18) x+y=>4
3X+5y<-25 4x -5y <25
A A
T ol 8 [l DbTo 4 1 T Jol 8l [l DbTo 4 o~
Y Y
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19) 3x+7y<-7 20) x—-5y>-25

3Xx+ 7y <-35 I1x-5y<25
A A
ol %64l blo ) o RENE IR AEEEED 4 o
Y Y
21) x—y<I1 22) 7x -3y < -6
2x =7y <42 X+y<-8
A A
Tlol BTl [W[ Do )] o~ Tjol sl [l Dblo 4 1~
Y Y
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23) 10x+3y>-24 24) 9x -8y >-56

X—y<-=5 X+2y>-12
A A
T lol 86 [ [ DbTo ! 0~ T lol B[ [ [ DbTo 4 o~
Y Y
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Answers to Assignment (I1D: 3)
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ID: 4

Period

Name
Assignment Date
Sketch the solution to each system of inequalities.
1) x+y<6 2) 3x+y<-1
12x-y>7 y<8
A A
4— 0|l 8|46 | 4| 210 4 1 > 4— 0|l 8] 46| -4|-210 >
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3) 3x+5y<5

2X+y<8
A
T fol B[ [ LT DbTo ] 0
Y
5) 14x+y=>8
2X—-y=8
A
T ol 8 [l DbTo 4 1
Y

dagsgs . mabh-verksheeb.org

4) 2x+y<3
IX—-y<6
A
470 8 | 46 | 4| 210 4 1;
Y
6) 2x+y>-7
X—=7y>-56
A
Tjol sl [l Dblo 4 o~
Y
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7) x—y<1 8) x+y<-1

4x+5y>40 y<-6
A A

ol %64l blo ) o RENE IR AEEEED 4 o
Y Y

9) 3x+y<-2 10) 3x+ 8y >—48
X+3y>18 X—4y =>4

A A

Tlol BTl [W[ Do )] o~ Tjol sl [l Dblo 4 1~
Y Y
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11) 3x+5y>-30 12) 11x+ 8y <—64

8X -5y >-25 3x -8y >—48
A A
T &l b1kl blo ) 5 “To Bl bl k1L lo 4 5
Y Y
13) x—y<-5 14) x—y>8
3X+4y<-8 13x+y=>6
A A
T ol 8 [l DbTo 4 1 T Jol 8l [l DbTo 4 o~
Y Y
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15) x—-4y<12 16) x<1

SX=2y<-12 X—y=>-5
A A
T &l b1kl blo ) 5 “To Bl bl k1L lo 4 5
Y Y
17) 6x—-5y>15 18) 3x-2y<-16
2X+5y <25 X+ 8y=>-40
A A
T ol 8 [l DbTo 4 1 T Jol 8l [l DbTo 4 o~
Y Y
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19) x+y>4 20) 7x+ 8y <-40

4x -5y >25 X—4y<-16
A A
ol %64l blo ) o RENE IR AEEEED 4 o
Y Y
21) 13x+5y<25 22) 2x+3y<9
4x+ 5y =>-20 X<-=3
A A
Tlol BTl [W[ Do )] o~ Tjol sl [l Dblo 4 1~
Y Y
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23) 2x—y<-3
X—4y <16
A
T &l b1kl blo ] 10
Y

</ gsgsgs ath-wsrisheel.crg

24) Tx -8y <8
Tx—8y <48

A

Y
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Answers to Assignment (ID: 4)
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ID: 5

Period

Name
Assignment Date
Sketch the solution to each system of inequalities.
1) Xx+y>6 2) 3x—-y<7
4x —y< -1 X—=5y<-35
A A
4—0 8| 46| 4| D20 4 1 > 4—0 8 46| 4| 20 >
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3) S5x+y<3 4) 4x+5y =25

3X-y<5 6X -5y <25
A A
ol %64l blo ) o RENE IR AEEEED 4 o
Y Y
5) 2x -7y <28 6) 3x+5y>5
12x -7y >-42 4x -5y <30
A A
Tlol BTl [W[ Do )] o~ Tjol sl [l Dblo 4 1~
Y Y

2 gegsms path-worksheet.ory
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7) 5X+8y>-32 8) 3x+y=>-5

X—4y<-12 X+3y<9
A A

T &l b1kl blo ) 5 “To Bl bl k1L lo 4 5
Y Y

9) 3x+2y<-10 10) 14x—-3y<-24

X+ 8y =48 14x -3y <3
A A

T ol 8 [l DbTo 4 1 T Jol 8l [l DbTo 4 o~
Y Y
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11) 8x—-y<—4 12) x+y<-2

X—y<3 SX+y<?2
A A
T &l b1kl blo ) 5 “To Bl bl k1L lo 4 5
Y Y
13) 11x-5y <20 14) 2x+y<5
3x-=5y=>-20 10x—-y<7
A A
T ol 8 [l DbTo 4 1 T Jol 8l [l DbTo 4 o~
Y Y
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15) 14x+y<7
X+Yy>-6

16) x+5y<-15

A

17) 7x -5y >20
2X+5y <25

A

2X+y>6
A
> “ol Bl 6l =l blo 4 0
Y
18) 5x+4y>-16
X> -8
A
> T Bl b1l Llo 4 o~
Y

,_-‘af dsss-mabh-werhsheeh.ory
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19) x-2y>-6 20) 4x—-3y>12

7X+ 8y < —64 4x -3y > 21
A A
ol %64l blo ) o RENE IR AEEEED 4 o
Y Y
21) X+2y>6 22) 5x—4y<-16
5Xx+2y>-10 X+y<-=5
A A
Tlol BTl [W[ Do )] o~ Tjol sl [l Dblo 4 1~
Y Y
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23) 3x—-2y<-16

3Ix-2y< 10
A
ol BT Ul DbTo ] 0~
Y

</ gsgsgs ath-wsrisheel.crg

24) 2x+y=>4
IX-y=>7

A

Y
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Answers to Assignment (ID: 5)
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ID: 6

Period

Name
Assignment Date
Sketch the solution to each system of inequalities.
1) y<-8 2) 3x+5y<-10
10x+y<2 3Xx-5y<40
A A
4—0 8| 46| 4| D20 4 1 > 4—0 8 46| 4| 20 >

7 gegeus matih-wiorksheeh ory
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3) X—-y>6 4) y<1
2X+y>6 8X -5y >35
A A
(—O S 46|41 210 1; 4—0 8 | 46| A | 210 >
Y Y
5) x—8y>—48 6) y<8
X+2y<2 4x -5y <-20
A A
Tlol BTl [W[ Do o~ Tjol sl [l Dblo i
Y \/

dagsgs . mabh-verksheeb.org
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7) x+y<-7 8) 9x—-4y<-24

7x -8y > —64 I9x -4y >-8
A A

ol %64l blo ) o RENE IR AEEEED 4 o
Y Y

9) 3x—4y>-28 10) 11x—8y>—-40

5x+4y>-4 11x-8y<-8
A A

Tlol BTl [W[ Do )] o~ Tjol sl [l Dblo 4 1~
Y Y

2 gegsms path-worksheet.ory
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11) 15x—y>8 12) 2x+3y <21

X+y<8 3x-y<4
A A
ol %64l blo ) o RENE IR AEEEED 4 o
Y Y
13) x—-y<4 14) x+4y>-28
OX+y=>6 3IXx—y<-6
A A
Tlol BTl [W[ Do )] o~ Tjol sl [l Dblo 4 1~
Y Y

dagsgs . mabh-verksheeb.org
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15) 11x—y>38 16) x+5y>-15

X+y=4 X+5y<30
A A
T &l b1kl blo ) 5 “To Bl bl k1L lo 4 5
Y Y
17) 3x -2y >-10 18) 3x—-5y<-20
X—4y =20 12x -5y <25
A A
T ol 8 [l DbTo 4 1 T Jol 8l [l DbTo 4 o~
Y Y

2 gegsms path-worksheet.ory
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19) x -4y <28 20) 11x+8y<—40

X>-4 3x+8y>24
A A
ol %64l blo ) o RENE IR AEEEED 4 o
Y Y
21) 7x+4y<-16 22) x—4y<—4
X+2y<2 X—4y>-20
A A
Tlol BTl [W[ Do )] o~ Tjol sl [l Dblo 4 1~
Y Y

2 gegsms path-worksheet.ory
, math-worksheet.org



23) 5x—-4y<-16

X+y<-=5
A
o
8
\J
4
> >
-0 8| 6| 4| D2]o0 4 1
=4
0
=8
=10
Y

</ gsgsgs ath-wsrisheel.crg

24) x+y<—4
10x+y<5

A

Y
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ID: 7

Name
Assignment Date Period
Sketch the solution to each system of inequalities.
1) 7x+5y>10 2) 2x—-5y<-15
X—=5y<30 X<5
A A
4— 0|l 8|46 | 4| 210 4 1 > 4— 0|l 8] 46| -4|-210 4 10 >
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3) 7x-3y<15 4) x—-6y=>-42

X+3y<9 S5X—-6y>-18
A A

T &l b1kl blo ) 5 “To Bl bl k1L lo 4 5
Y Y

5) x+8y<-24 6) 7X+4y>32

X+ 8y >—40 3x—4y>8
A A

T ol 8 [l DbTo 4 1 T Jol 8l [l DbTo 4 o~
Y Y

2 gegsms path-worksheet.ory
, math-worksheet.org



7) 3x+4y <20 8) x—y<-1

OX+4y>—-4 y<-3
A A

ol %64l blo ) o RENE IR AEEEED 4 o
Y Y

9) x-4y>16 10) 3x -8y <-64

9x — 8y >-24 5X+4y>-20
A A

Tlol BTl [W[ Do )] o~ Tjol sl [l Dblo 4 1~
Y Y

2 gegsms path-worksheet.ory
, math-worksheet.org



11) x>-4 12) 5x-2y>16

X—y>-8 2X—3y>-9
A A
T &l b1kl blo ) 5 “To Bl bl k1L lo 4 5
Y Y
13) 9x+2y<-16 14) x+5y>-30
X—y>-3 3Xx+y>8
A A
T ol 8 [l DbTo 4 1 T Jol 8l [l DbTo 4 o~
Y Y

dagsgs . mabh-verksheeb.org
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15) x+2y>16 16) Sx+4y<-28

3x—4y <8 3x -8y >—48
A A
T &l b1kl blo ) 5 “To Bl bl k1L lo 4 5
Y Y
17) y<-3 18) x+y>-8
5Xx—4y>-28 S5Xx=2y>-12
A A
T ol 8 [l DbTo 4 1 T Jol 8l [l DbTo 4 o~
Y Y

2 gegsms path-worksheet.ory
, math-worksheet.org



19) 3x+4y <12 20) 9x+y=>8

X—2y<-16 X—y>2
A A
T &l b1kl blo ) 5 “To Bl bl k1L lo 4 5
Y Y
21) x+2y<2 22) 5x—4y<-12
2X+y>-5 X>-8
A A
T ol 8 [l DbTo 4 1 T Jol 8l [l DbTo 4 o~
Y Y

dagsgs . mabh-verksheeb.org
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23) 4x+5y>-20 24) 10x-3y< 12

13X+ 5y >25 2X+3y=>24
A A
<—O S 46|41 210 4 1; 4—0 S8 46|41 210 4 1 >
Y Y
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Answers to Assignment (ID: 7)
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ID: 8

Period

Name
Assignment Date
Sketch the solution to each system of inequalities.
1) x-5y>10 2) 12x+5y>35
X+y<4 2Xx -5y <35
A A
4—0 8| 46| 4| D20 4 1 > 4—0 8 46| 4| 20 >

7 gegeus matih-wiorksheeh ory
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3) x-2y<-6

S5X=2y>10
A
T &l b1kl blo ) 5
Y
5) 5x -8y >-56
7x+ 8y >—40
A
T ol 8 [l DbTo 4 1
Y

dagsgs . mabh-verksheeb.org

4) 5x+4y>-8
X> -8
A
“To Bl bl k1L lo 4 5
Y
6) 3x+y>-2
X—y>-6
A
T Jol 8l [l DbTo 4 o~
Y

math-worksheet.org



7) y>8

IXx+4y<4
A
T &l b1kl blo ) 5
Y
9) 5x+4y>-16
3Ix-2y>-14
A
T ol 8 [l DbTo 4 1
Y

7 27 vssvs path-werksheet.ory

8) 3x-2y=>-2
X+2y>-14

A

470 86| 4]l D2lo >

—m\
10) x+8y>-24
X—-2y<—4

4

math-worksheet.org



11) x—-y>8 12) x+5y<-10

Sx+y<4 3x-5y<30
A A
T &l b1kl blo ) 5 “To Bl bl k1L lo 4 5
Y Y
13) 3x+7y>-14 14) 3x -4y <-4
2x =7y <-21 S5x=2y=>12
A A
T ol 8 [l DbTo 4 1 T Jol 8l [l DbTo 4 o~
Y Y

2 gegsms path-worksheet.ory
, math-worksheet.org



15) 2x+y>1 16) x+2y<6

X—4y <32 X—8y<-64
A A
T &l b1kl blo ) 5 “To Bl bl k1L lo 4 5
Y Y
17) 11x-5y<-35 18) 3x+ 8y <—48
3x+5y>-35 Sx—4y <28
A A
T ol 8 [l DbTo 4 1 T Jol 8l [l DbTo 4 o~
Y Y

2 gegsms path-worksheet.ory
, math-worksheet.org



19) 5x -4y >28 20) x+2y>8

3x+ 8y <48 X—4y <-28
A A
T &l b1kl blo ) 5 “To Bl bl k1L lo 4 5
Y Y
21) 3x-5y>20 22) 5x—4y<-4
OX +5y>40 X+2y<-12
A A
T ol 8 [l DbTo 4 1 T Jol 8l [l DbTo 4 o~
Y Y

2 gegsms path-worksheet.ory
, math-worksheet.org



23) y<2 24) 14x+3y>21

3Xx+2y=>16 2x+3y<-15
A A
<—O S 46|41 210 4 1; 4—0 S8 46|41 210 4 1 >
Y Y

</ gsgsgs ath-wsrisheel.crg
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Answers to Assignment (I1D: 8)

1) 2) 3)

A A A
s B . :
[« [} | [« [4
]
‘\
4 41y & 7
. ]
Sl Rl Lo T | T Sl s afo] [ - - L o]l [ 4 i
|t v !
=4 &l P X", ‘:l
\
=8 _ /,‘Fc( "“ —l%
Y Y Y
4) A 5) A 6) A
"
8 8 8
HENEENEEEEE HEEEV<EREN \
N\ 4 /7 4 Y
AN
< A > < > < >
K | 4 1= ™4 o 4 5 4
, AW ,
NAN S i\
L8 \\ =8 \‘\ =8
N\ .
Y Y Y
7 A 8) A 9) A
“ l’
‘\ S ‘:'
\“* 4 .-‘. G a
- -‘\ > < I, > - :’=- >
SB[ folY 4 ” Y 4 g R "74"‘.‘ 0 ! g
L “.‘ =4 ’,." 4 N
o X o ¢ ‘.\
=6 “ =6 \ =0 l.
Y Y Y
10) A 11) A 12) A
\
8 ) 8
4 A\ 4
s A - s ‘ A - s A -
- L To 4 ” S8 [ o]V 2 ” R y 77
““‘\ 4 \ 4 T%;
= = =4 d
=8 LQ \ /70
(s ‘ P /' [s]
Y Y Y
13) A 14) A 15) A
. /1) A\
° Iy \
) — ) r \.
R iy \
<= > < A > < )\ >
I8 [ ! B[ ol [ 4 I3[ [o]\l 4
Ny pamy / L\
e f/ \
X
C / o \
Y Y Y

math-worksheet.org



17) A 18) A
16) A 1/
’ ol
- Q|2 o
| S rd
o A s
p— 7 " 4
l/l 'I
. "‘i " -
7 - I >
- : > RN 4
» I > <5 | 4 o 4 i
REIEIEAD 4 D Fai
L4 l’\\_q T
K NS 8 \\\
=8 ’ ° Yo
’ v \
Y 20) 21) A
19) A .
A . .
Q - °© LY
\"'- 8 }/ ‘\‘
T~ o 4 \
Pl . ‘{. ] F b P
/ - > TR L o] [ 2%
< > o | 4 lo 4 o~ \
< xR N 0 A ) L4 \\‘
=4 74 // X
/ s =8 .
pd r®
4 Y \
Y 23) 24) A
22) A 0 1
[}
) / 8
o ) \\ 4 'l‘
= A}
"1/ <« S it >
< > o I | 0 4
< .4 > TR 4o | 4\ \\ -
REEEYS 4 ) 5.4‘\ \
L4 \ I \N\
/ L8 | U
/ ® Y
Y
Y

-' £ dsss-mabh-werhsheeh.ory

math-worksheet.org



ID: 9

Period

Name
Assignment Date
Sketch the solution to each system of inequalities.
1) 9x—-8y>24 2) X+y<2
X>8 X—4y>12
A A
4—0 8| 46| 4| D20 4 1 > 4—0 8 46| 4| 20 >

7 gegeus matih-wiorksheeh ory
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3) 13x+4y<20 4) 3x+8y<-64

3x+4y<-20 7x -8y >-16
A A

T &l b1kl blo ) 5 “To Bl bl k1L lo 4 5
Y Y

5) 5x -8y >-56 6) x-3y<12

TX+ 8y >—-40 5Xx+3y>24
A A

T ol 8 [l DbTo 4 1 T Jol 8l [l DbTo 4 o~
Y Y

2 gegsms path-worksheet.ory
, math-worksheet.org



7) 11x—4y>-24 8) 15X — 8y < 56

y>-5 X—2y>-8
A A
ol %64l blo ) o RENE IR AEEEED 4 o
Y Y
9) Xx+2y>6 10) 3x+4y<-8
I1x+4y>-24 X—=Yy>-5
A A
Tlol BTl [W[ Do )] o~ Tjol sl [l Dblo 4 1~
Y Y

2 gegsms path-worksheet.ory
, math-worksheet.org



11) x<-7 12) 4x-y<8

X+7y<21 X—4y <-28
A A
ol %64l blo ) o RENE IR AEEEED 4 o
Y Y
13) 11x+4y>32 14) 9x -4y >-12
y<-3 X—4y2>20
A A
Tlol BTl [W[ Do )] o~ Tjol sl [l Dblo 4 1~
Y Y

2 gegsms path-worksheet.ory
, math-worksheet.org



15) x-2y> 14 16) x-2y>-6

IX—=2y<2 X—2y>-16
A A
T &l b1kl blo ) 5 “To Bl bl k1L lo 4 5
Y Y
17) S5x—4y<4 18) 11x—4y>-16
X+4y <20 3x—4y <16
A A
T ol 8 [l DbTo 4 1 T Jol 8l [l DbTo 4 o~
Y Y

2 gegsms path-worksheet.ory
, math-worksheet.org



19) x—-4y<24 20) x+5y>20

11x+ 8y > 56 9x -5y =>30
A A
T &l b1kl blo ) 5 “To Bl bl k1L lo 4 5
Y Y
21) x—4y<8 22) 2x+5y <20
3Ix-2y<-16 14x+ 5y <-40
A A
T ol 8 [l DbTo 4 1 T Jol 8l [l DbTo 4 o~
Y Y

827 gegsgspath-viorksheeb.ory
math-worksheet.org



23) y>-7
6X+7y<-7
A
<—O 8164|210 4 1;
Y

</ gsgsgs ath-wsrisheel.crg

24) 9x+4y <20
X+4y<-12

A

Y
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Answers to Assignment (I1D: 9)
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1D: 10

Name
Assignment Date Period
Sketch the solution to each system of inequalities.
1) 6x—-7y<-35 2) Xx+2y<8
2x+7y>-21 3Xx-2y=>8
A A
4— 0|l 8|46 | 4| 210 4 1 > 4— 0|l 8] 46| -4|-210 4 10 >

7 gegeus matih-wiorksheeh ory
math-worksheet.org



3) 3x+4y>-20 4) 5x—4y>16

3Xx+4y>-16 X—4y<-16
A A
ol %64l blo ) o RENE IR AEEEED 4 o
Y Y
5) 5x-2y<-16 6) 3x+2y< 14
X+4y<-12 X—8y <48
A A
Tlol BTl [W[ Do )] o~ Tjol sl [l Dblo 4 1~
Y Y

2 gegsms path-worksheet.ory
, math-worksheet.org



7)) y=5 8) x+y=>-2

3Xx+4y<8 X+4y<-20
A A
T &l b1kl blo ) 5 “To Bl bl k1L lo 4 5
Y Y
9) 11x+7y<-21 10) 3x+2y>-14
3Xx+7y <35 X—2y<-10
A A
T ol 8 [l DbTo 4 1 T Jol 8l [l DbTo 4 o~
Y Y

=] gasvs math-vserksheeh. orsy
, math-worksheet.org



11) 3x -8y <-56 12) 4x-y>8

3Xx+2y<-16 4x —-y>-1
A A
T &l b1kl blo ) 5 “To Bl bl k1L lo 4 5
Y Y
13) 4x -5y >-10 14) 3x+4y> 16
3X+5y<-25 Ox —4y>32
A A
T ol 8 [l DbTo 4 1 T Jol 8l [l DbTo 4 o~
Y Y

827 gegsgspath-viorksheeb.ory
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15) 3x -4y <-28 16) x+4y>-16

3x+4y<4 X+4y<4
A A
T &l b1kl blo ) 5 “To Bl bl k1L lo 4 5
Y Y
17) x—-4y>8 18) x+5y<40
11x—-4y>-32 X—y=>-2
A A
T ol 8 [l DbTo 4 1 T Jol 8l [l DbTo 4 o~
Y Y

2 gegsms path-worksheet.ory
, math-worksheet.org



19) x-2y>-14 20) 3x—8y <48

IX=2y <=2 X>-8
A A
T &l b1kl blo ) 5 “To Bl bl k1L lo 4 5
Y Y
21) y<4 22) X+y>3
I11x+5y<-35 X—7y<35
A A
T ol 8 [l DbTo 4 1 T Jol 8l [l DbTo 4 o~
Y Y

2 gegsms path-worksheet.ory
, math-worksheet.org



23) x+2y<16

IXx—4y>4
A
o
8
\J
4
> >
-0 8| 6| 4| D2]o0 4 1
=4
0
=8
=10
Y

</ gsgsgs ath-wsrisheel.crg

24) x-5y<30
I1x—-5y>-20

A

Y
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